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CROCHET PATTERN

Zen Garden

T-shirt

Design: It Was Yarn - Kate Kosenko (Veselunka)| Hobbii Design
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MATERIALS
5(7/8) 10 balls of Friends Cotton Silk color 83

Crochet hook 4.5 mm / G7
Scissors

Tape measuring

Stitch markers

Needle

YARN QUALITY

@ Friends Cotton Silk, Hobbii
100 % Cotton
50g/1.750z=120m/ 131 yds

GAUGE

17dcx10rows=10cmx10cm /4" x 4"
Note: Wash and dry your sample before
making measurements.

ABBREVIATIONS

rnd = round

st (s) = stitch (es)

Sp (s) = space (s)

sl st = slip stitch

ch =chain

sc = single crochet

hdc = half double crochet

dc = double crochet

picot = ch3, sl stin 3" ch from hook

dc2tog = double crochet 2 stitches together
starting dc2tog = ch2, dc in next dc

small and large flowers are described in the
INTRO section

QUESTIONS

SIZE
S/M (L/XL) XXL

MEASUREMENTS

Length: 51 (59/67) 74 cm / 20 (23.2/26.4) 29"
Width: 45 (55) 64 cm / 17.7 (21.5) 25.2"
Sleeve length (from armhole): 12 (16) 19 cm /
4.7(6.3)7.5"

Sleeve width (narrowest part): 14 (18) 22 cm /
5.5(7)8.7"

PATTERN INFORMATION

This pattern includes step-by-step and
simplified instructions. Once you get the
hang of it, it's easy to follow row by row!
Based on filet crochet, this blouse is made
quite quickly. The pattern uses simple
stitches, the combination of which gives a
variety of patterns on the right and left sides
of the blouse, as well as 3D flowers.

Stitches used: slip stitch, chain, single
crochet, half double crochet, double crochet,
picot, double crochet 2 stitches together,
mattress sewing stitch.

HASHTAGS FOR SOCIAL MEDIA
#hobbiidesign #hobbiizengarden

BUY THE YARN HERE
https://shop.hobbii.com/zen-garden-t-shirt

If you have any questions regarding this pattern, please feel free to email us at

support@hobbii.com

Please make sure to include the pattern's name and number.

Happy Crafting!
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Pattern

INFO AND TIPS

Each row of this pattern includes step-by-step detailed instruction and simplified version. If
you are new in crocheting, follow the full description and use simplified description for the
easy way to check stitches count after each row/round. If you already have experience with
crocheting, in particular with filet crocheting, you may prefer to use only a simplified
version.

For the simplified way, | use additional abbreviations, namely:

E = empty square (with ch1 between 2 dc)

F = full square (with 3 dc one by one)

DE = double empty (with ch3 between 2 dc)

PS = picot section (sc, picot, sc made in same ch3-sp between 2 dc)

For example:

Also, the pattern includes “small flower” and “large flower” (in the photos, it looks like the inside
of the flower and the outside).

Small flower: PM in last dc (pic 1). This will make it easier to find the stitch in the next round.
Turn the work right side facing you, ch1. Work counter clockwise from point 1 to point 4 (pic 2).
To do this, rotate the work a bit and make (sc, ch1, 2 dc, ch1, sc) into each point: ch1-sp of the
current round (point 1), around post of previous dc (point 2), next ch1-sp of previous round
(point 3), around post of next (marked) dc (point 4, pic 3).
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Drop the loop from your hook, insert hook in 1% sc from back to front, put the loop back on your
hook and pull through. Remove marker. Turn the work wrong side facing you and continue
crocheting the round as described (pic 4).

pic 4

Zen Garden - T-shirt | No. 1276-241-5788 | © Hobbii 2024 | 4



& hobbii

Large flower: PM in last dc. Work counter clockwise (rotate the work) around the small flower
(blue in a pic 1). Make (sc, picot, sc) in each of next spaces (in ch1-sp or around post of dc)
marked in red in a pic 1; 12 times at all. Drop the loop from your hook, insert hook in 1** sc from
back to front, put the loop back on your hook and pull through. Remove marker. Continue
crocheting as described (pic 2).

pic 1
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CONTENTS

BOAY (A1 SIZES ).ttt bbbttt ettt e bt b 6

FrONT (A11 SIZES INTIO).ui ittt ettt ettt e sae e et e e sttt e s te e seaaessmaeesbaeesnseesneeesaseesnaessareas 9
0] 1R RSP SRRPR 9

Front right SNOUIAEN S/M ..ottt sttt st s s e se e b e 11
Front 1€ft SNOUIAEN S/M.....coieieeeeee ettt ettt ettt et eae bbb s aeereene 12
(0] 0 o I SRS 12
Front right SNOUIAEE L/XL....cueoiiiirieieeeeeseteeeeesete ettt sttt bbb st sae e enas 13
Front [€ft SNOUIAEN L/XL....oovieieeeieeeeeeeteteetet ettt ettt et st bbb e s seeneere e 14
0] 0 L PSP 14
Front right SNOUIAEE 2XL....uciiiiirieieeec ettt ettt 16
Front [€ft SNOUIAEE 2XL....cuviiieeieiiieeeeeeeeete ettt ettt et et a bbbt bessessereeseesannan 17
BACK S/ttt ettt b e b bbbt aeeaeebe b e be st enteseebeebe b entenaereereenn 17
BaCK right SNOUIAET S/M ...ttt ettt 19
BaCK 1€ft SNOUIAET S/Mi..cceiieeeeeeeee ettt st ettt e besbeenn e beenis 20
BACK L/XL. ettt ettt ettt et ettt b et eaeebe b et ettt ete et et ensereeteebe b e s ensensens 20
Back gt SNOUIAEE L/XL....ueiiiiieieiiiirieieie sttt 22
BaCK 1€Ft SNHOUIAET L/XL ..ottt ettt ettt et e a b ere et eabeeseenteereenean 22
BACK 2X L. ittt ettt ettt ettt ettt e e teeat e beete e b e teereeaaebeereeraeteeraetenbeereenaerans 22
BaCK right SNOUIAEE 2XLo...ecuiieiiieieiieirieeseee ettt ettt b e s e ssesesaesenassenannes 24
BaCK 1€Ft SNOUIAEE 2XL...uiiuiiiiereeeeeeeteeeeete ettt ettt ettt ettt et ae et etseebeebeensebeeaeensenne 24
BODY (ALL SIZES)

Start crocheting from the bottom to the armholes.

Ch160 for size S/M (192 for size L/XL) 224 for size 2XL, join with a sl st to form a ring.

Rnd 1 (right side): Ch3 (counts as dc), dc in next 159 (191) 223 chains, join with a sl st to 3™ ch
of starting ch3. Turn the work (now and each round).

Simplified: 80 (96) 112 F =160 (192) 224 dc.

Rnd 2 (wrong side): Ch4 (counts as dc + ch1), sk dc, (dc in next dc, ch1, sk dc)x79 (95) 111, join
with a sl st to 3™ ch of starting ch4.

Simplified: 80 (96) 112 E =80 (96) 112 dc, 80 (96) 112 ch1-sps.

Rnd 3: Ch3 (counts as dc), dc in next 159 (191) 223 sps/sts, join with a sl st to 3" ¢ch of starting
ch3.

Simplified: 80 (96) 112 F =160 (192) 224 dc.

Rnd 4: Repeat Rnd 2.

Rnd 5: Ch4 (counts as dc + ch1), sk sp, (dc in next dc, ch1, sk sp)x8 (8) 16, dc in next 15 sts/sps,
*(ch1, sk sp, dcin next dc)x7, dc in next 2 st/sp* 6 (8) 8 times, ch1, sk sp, dc in next 3 sts/sps,
(ch1, sk sp, dcin next dc)x13 (13) 21, ch1, join with a sl st to 3" ch of starting ch4.

Simplified: 9(9) 17 E, 7F, (7E, 1F)x6 (8) 8 1E, 1F, 14(14) 22 E.

Rnd 6: Ch4 (counts as dc + ch1), sk sp, *(sc, picot, sc) in next dc, ch1, sk sp, dcin next dc, ch1, sk
sp)* 7 (7) 11 times omitting last ch1 and do not sk sp last time, dc in next 2 dc, ch1, sk sp, dcin
next 3 dc, (ch1, sk sp, dc in next dc)x6, dc in next 2 st/sp, ch1, sk sp, dc in next 3 sts/sps, *(ch1, sk
sp, dcin next dc)x5, dc in next 2 st/sp, ch1, sk sp, dc in next 3 sts/sps* 4 (6) 6 times, (ch1, sk sp,
dc in next dc)x6, dc in next 2 st/sp, (ch1, sk sp, dc in next dc)x5, dc in next 2 st/sp, ch1, sk sp, *dc
in next dc, ch1, sk sp, (sc, picot, sc) in next dc, ch1, sk sp* 4 (4) 8 times, join with a sl st to 3™ ch
of starting ch4.

Simplified: 7 (7) 11PS, 1F, 1E, 1F, 6 E 1F 1E 1F, (5E 1F 1E 1F)x4(6)6,6E 1F,5E 1F 1E 4
PS.

Rnd 7: Ch6 (counts as dc + ch3), (dc in next dc skipping all sts/sps between them, ch3)x3 (3) 7, dc
in next dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x5, dc in next 2 dc, *(ch1, sk st/sp,

Zen Garden - T-shirt | No. 1276-241-5788 | © Hobbii 2024 | 6



& hobbii

dcin next dc)x7, dc in next 2 st/sp* 6 (8) 8 times, ch1, sk sp, dcin next 3 dc, (ch3, dcin next dc
skipping all sts/sps between them)x6 (6) 10, ch3, join with a sl st to 3™ ch of starting ché.
Simplified: 4 (4) 8 DE, 1E, 1F, 5E 1F, (7E 1F)x6(8) 8 1E 1F 7(7)11DE.

Rnd 8: Ch4 (counts as dc + ch1), *(sc, picot, sc) in next ch3-sp, ch1, dcin next dc, ch1)* 7 (7) 11
times omitting last ch1, dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk st/sp, dc in next
dc)x47 (63) 63, dc in next 2 dc, (ch1, sk sp, dc in next dc)x3, small flower, (ch1, sk sp, dc in next
dc)x2, dcin next 2 dc, ch1, sk sp, *dc in next dc, ch1, (sc, picot, sc) in next ch3-sp, ch1* 4 (4) 8
times, join with a sl st to 3 ch of starting ch4.

Simplified: 7 (7) 11 PS, 1F, 1E, 1F, 47 (63) 63 E, 1F, 3 E, small flower, 2E, 1F, 1E, 4(4) 8 PS.

Rnd 9: Ch6 (counts as dc + ch3), (dc in next dc skipping all sts/sps between them, ch3)x3 (3) 7, dc
in next dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x3, large flower, (ch1, sk sp, dcin
next dc)x2, dc in next 2 dc, (ch1, sk sp, dcin next dc)x3, dc in next 2 st/sp, *(ch1, sk st/sp, dcin
next dc)x7, dc in next 2 st/sp* 5 (7) 7 times, (ch1, sk sp, dc in next dc)x3, dc in next 2 sts, ch1, sk
sp, dcin next 3 dc, (ch3, dc in next dc skipping all sts/sps between them)x6 (6) 10, ch3, join with
a sl st to 3" ch of starting ché.

Simplified: 4 (4) 8 DE, 1E, 1F, 3 E, large flower, 2E, 1F, 3E, (1F, 7E)x5(7) 7, 1TF,3E, 1F, 1E 1F, 7(7)
11 DE.

Rnd 10: Ch4 (counts as dc + ch1), *(sc, picot, sc) in next ch3-sp, ch1, dcin next dc, ch1* 7 (7) 11
times omitting last ch1, dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next dc)x2,
*dc in next 2 dc, ch1, sk st, dc in next 3 sts/sps, (ch1, sk st/sp, dc in next dc)x5* 5 (7) 7 times, dc
in next 2 dc, ch1, sk st, dc in next 3 sts/sps, (ch1, sk st/sp, dc in next dc)x2, dc in next 2 dc, (ch1,
sk sp, dcin next dc)x5, dc in next 2 dc, ch1, sk sp, *dc in next dc, ch1, (sc, picot, sc) in next
ch3-sp, ch1* 4 (4) 8 times, join with a sl st to 3 ch of starting ch4.

Simplified: 7(7) 11PS, 1F, 1E, 1F,2E (1F, 1E 1F5Ex5(7)7, 1F 1E 1F2E 1F5E 1F 1E 4(4)
8 PS.

Rnd 11: Ch6 (counts as dc + ch3), (dc in next dc skipping all sts/sps between them, ch3)x3 (3) 7,
dcin next dc, ch1, sk sp, dcin next 15 sts/sps, (ch1, sk sp, dc in next dc)x3, *dc in next 2 st/sp,
(ch1, sk st/sp, dc in next dc)x7* 5 (7) 7 times, dc in next 2 st/sp, (ch1, sk sp, dc in next dc)x3, dcin
next 2 st/sp, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping all sts/sps between them)x6 (6)
10, ch3, join with a sl st to 3 ch of starting ché.

Simplified: 4 (4) 8 DE, 1E, 7F, 3E, (1F, 7E)x5(7) 7, 1F,3E, 1F, 1E 1F 7DE

Rnd 12: Ch4 (counts as dc + ch1), (dc in next ch3-sp, ch1, dcin next dc, ch1)x7 (7) 11, sk dc, (dcin
next dc, ch1, sk next st/sp)x57 (73) 73, (dc in next dc, ch1, dc in next ch3-sp, ch1)x4 (4) 8 times,
join with a sl st to 3™ ch of starting ch4.

Simplified: 80 (96) 112 E.

For sizes XL and 2XL: Repeat Rounds 5-12 one more time.

Rnd 13: Ch4 (counts as dc + ch1), sk sp, (dc in next 15 sts/sps, ch1, sk sp)x9 (11) 13, dc in next 14
sts/sps, join with a sl st to 3™ ch of starting ch4.

Simplified: (1 E, 7 F)x10 (12) 14.

Rnd 14: Ch3 (counts as dc), dc in next 2 dc, *(ch1, sk dc, dc in next dc)x5, dcin next 2 dc, ch1, sk
sp, dcin next 3 dc* 9(11) 13 times, (ch1, sk dc, dc in next dc)x5, dc in next 2 dc, ch1, join with a sl
st to 3" ch of starting ch3.

Simplified: (1 F, 5E, 1F, 1E)x10(12) 14.

Rnd 15: Ch4 (counts as dc + ch1), sk sp, *dc in next 3 dc, (ch1, sk sp, dc in next dc)x5, dc in next 2
dc, ch1, sksp* 9 (11) 13 times, dc in next 3 dc, (ch1, sk sp, dc in next dc)x5, dc in next dc, join
with a sl st to 3™ ch of starting ch4.

Simplified: (1 E, 1 F, 5E, 1 F)x10(12) 14.

Rnd 16: Ch3 (counts as dc), *dc in next 2 dc, (ch1, sk sp, dc in next dc)x3, small flower, (ch1, sk
sp, dcin next dc)x2, ch1, sk sp, dcin next 3 dc* 10 (12) 14 times omitting last dc, join with a sl st
to 3™ ch of starting ch3.
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Simplified: (1 F, 3 E, small flower, 2 E, 1 F, 1 E)x10 (12) 14.

Rnd 17: Ch4 (counts as dc + ch1), sk sp, *dc in next 3 dc, (ch1, sk sp, dc in next d¢)x3, large
flower, (ch1, sk sp, dcin next dc)x2, dcin next 2 dc, ch1, sk sp* 10 (12) 14 times omitting last dc
and ch1, join with a sl st to 3" ch of starting ch4.

Simplified: (1 E, 1 F, 3 E, large flower, 2 E, 1 F)x10 (12) 14.

Rnd 18: Ch3 (counts as dc), dc in next 2 dc, *(ch1, sk sp, dc in next dc)x5, dc in next 2 dc, ch1, sk
sp, dcin next 3 dc* 10 (12) 14 times omitting last 3 dc, join with a sl st to 3™ ch of starting ch3.
Simplified: (1 F, 5E, 1F, 1E)x10(12) 14.

Rnd 19: Ch4 (counts as dc + ch1), sk sp, (dcin next 15 sts/sps, ch1, sk sp)x9 (11) 13, dcin next 14
sts/sps, join with a sl st to 3™ ch of starting ch4.

Simplified: (1 E, 7 F)x10 (12) 14.

Rnd 20: Ch4 (counts as dc + ch1), sk st, (dc in next dc, ch1, sk st/sp)x79 (95) 111, join with a sl st
to 3™ ch of starting ch4.

Simplified: 80 (96) 112 E.

Rnd 21: Ch4 (counts as dc + ch1), sk sp, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x7, {for
2XL-size only: dc in next 2 st/sp, (ch1, sk sp, dc in next dc)x7}, dc in next 14 sts/sps, (ch1, sk sp, dcin
next dc)x47 (63) 63, dc in next 2 st/sp, ch1, sk sp, dcin next 3 sts/sps, *(ch1, sk sp, dc in next
dc)x7, dcin next 2 st/sp* 1 (1) 2 times, (ch1, sk sp, dc in next dc)x5, ch1, sk sp, join with a sl st to
3" ch of starting ch4.

Simplified: 1E, 1F, 7 E, {2XL: TF, 7E}, 7F, 47 (63) 63E, 1F, 1E, 1F, (7E 1Fx1(1)2, 6E.

Rnd 22: Ch4 (counts as dc + ch1), sk sp, (dc in next dc, ch1, sk sp)x4, dc in next 3 sts/sps, ch1, sk
st, dc in next 3 sts/sps, {for 2XL-size only: (ch1, sk sp, dc in next dc)x5, dc in next 2 st/sp, ch1, sk st, dc
in next 3 sts/sps}, (ch1, sk sp, dc in next dc)x6, dc in next 2 st/sp, ch1, sk sp, dcin next 3 sts/sps,
*ch1, sk sp, (sc, picot, sc) in next dc, ch1, sk sp, dcin next dc* 23 (31) 31 times, ch1, sk sp, dcin
next 3 sts/sps, (ch1, sk st, dc in next dc)x5, dcin next 2 dc, (ch1, sk sp, dc in next dc)x6, dc in next
2 st/sp, {for 2XL-size only: ch1, sk dc, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x5, dc in next 2
st/sp}, ch1, sk sp, dcin next 2 st/sp, join with a sl st to 3™ ch of starting ch4.

Simplified: 5E, TF, 1E, 1F {2XL; 5E 1F, 1E 1F}, 6E 1F 1E 1F23(31)31PS, 1E, 1F,5E 1F6E,
TFA{2XL: TE,1TF,5E 1F, 1E 1F.

Rnd 23: Ch4 (counts as dc + ch1), sk dc, dc in next 3 sts/sps, *(ch1, sk st/sp, dc in next dc)x7, dc
in next 2 dc* 1 (1) 2 times, (ch1, sk sp, dc in next dc)x5, dc in next 2 dc, ch1, sk sp, dcin next dc,
(ch3, dc in next dc skipping all sts/sps between them)x23 (31) 31, dc in next 2 dc, ch1, sk sp, dcin
next 3 dc, *(ch1, sk st/sp, dc in next dc)x7, dcin next 2 st/sp* 1 (1) 2 times, (ch1, sk st/sp, dcin
next dc)x5, ch1, sk sp, join with a sl st to 3™ ch of starting ch4.

Simplified: 1E, 1F, (7E 1F)x1(1)2, 5E 1F, 1E 23(31)31DE, 1F, 1E 1F (7E 1F)x1(1)2,6E.

Rnd 24: Ch4 (counts as dc + ch1), sk sp, (dcin next dc, ch1, sk st/sp)x13 (13) 21, dc in next 3 sts,
ch1, sk sp, dcin next 3 sts, *ch1, sk sp, (sc, picot, sc) in next dc, ch1, sk sp, dc in next dc* 23 (31)
31 times, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x3, small flower, (ch1, sk sp, dcin
next dc)x2, dc in next 2 dc, (ch1, sk st/sp, dc in next dc)x8 (8) 16, ch1, sk sp, join with a sl st to 3™
ch of starting ch4.

Simplified: 14 (14) 22 E, 1F, 1E, 1F, 23 (31)31PS, 1E, 1 F, 3 E, small flower, 2E, 1F,9(9) 17 E.

Rnd 25: Ch4 (counts as dc + ch1), sk sp, (dc in next dc, ch1, sk sp)x4, dc in next 3 sts/sps, {for
2XL-size only: (ch1, sk sp, dc in next dc)x7, dc in next 2 dc}, (ch1, sk sp, dc in next dc)x3, dc in next 2
dc, (ch1, sk sp, dc in next dc)x3, large flower, (ch1, sk sp, dc in next dc)x2, dc in next 2 dc, ch1, sk
sp, dcin next dc, (ch3, dc in next dc, skipping all sts/sps between them)x23 (31) 31, dc in next 2
dc, ch1, sk sp, dcin next 3 sts/sps, (ch1, sk sp, dcin next dc)x3, dcin next 2 dc, *(ch1, sk sp, dcin
next dc)x7, dcin next 2 dc* 1 (1) 2 times, ch1, sk sp, dc in next dc, ch1, sk sp, join with a sl st to
3" ch of starting ch4.

Simplified: 5E, 1 F,{7E 1F}, 3E 1F 3E, large flower,2E, 1F, 1E, 23(31)31DE, 1TF, 1E, 1F, 3E 1F,
(7E 1Fx1(1)2 2E.
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Rnd 26: Ch4 (counts as dc + ch1), sk sp, dc in next 3 sts/sps, ch1, sk st, dc in next 3 sts/sps,
*(ch1, sk sp, dcin next dc)x5, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps* 1 (1) 2 times,
(ch1, sk sp, dcin next dc)x2, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, *ch1, sk sp, (sc, picot, sc)
in next dc, ch1, sk sp, dcin next dc* 23 (31) 31 times, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin
next dc)x5, dc in next 2 dc, (ch1, sk sp, dcin next dc)x2, dc in next 2 st/sp, ch1, sk st, dcin next 3
sts/sps, {for2XL-size only: (ch1, sk sp, dc in next dc)x5, dc in next 2 st/sp, ch1, sk st, dc in next 3
sts/sps}, (ch1, sk sp, dc in next dc)x3, ch1, sk sp, join with a sl st to 3" ch of starting ch4.
Simplified: (1 E, T F)x2, (5E, 1F 1E 1Fx1(1)2,2E 1F 1E 1F23(31)31PS, 1E, 1F,5E 1F2E 1
F1E 1F{2XL:5E 1F 1E 1F}, 4E

Rnd 27: Ch4 (counts as dc + ch1), sk sp, (dc in next dc, ch1, sk st/sp)x4, dc in next 3 sts/sps, {for
2XL-size only: (ch1, sk st/sp, dc in next dc)x7, dc in next 2 st/sp}, (ch1, sk st/sp, dc in next d¢)x3, dcin
next 14 sts/sps, ch1, sk sp, dc in next dc, (ch3, dc in next dc, skipping all sts/sps between
them)x23 (31) 31, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk st/sp, dc in next dc)x3, dcin
next 2 st/sp, *(ch1, sk st/sp, dc in next dc)x7, dc in next 2 st/sp* 1 (1) 2 times, ch1, sk st, dcin
next dc, ch1, sk sp, join with a sl st to 3" ch of starting ch4.

Simplified: 5E, 1 F, {2XL: 7E, 1 F}, 3E, 7F, 1E 23(31)31DE, 1F, 1E 1F3E 1F(7E 1Fx1(1)2, 2E.
Do not cut the yarn and continue to the Front.

Note: The part with vertical and horizontal flower lines is a front side, with a horizontal flower
line only is a back side.

FRONT (ALL SIZES INTRO)

Sl stin next ch1-sp, ch22 (30) 38. Drop the loop from your hook and PM #1 into the working ch.
Find the middle ch3-sp (12" (16™) 16" of 23 (31) 31 of them) - opposite armhole, join the new
yarn and pull up a loop. Make ch21 (29) 37 and PM #2 into the 21% (29") 37" ch but do not drop
the loop from your hook. Turn the work. Red arrows show the direction of the work in Row 1.

wrong side of the front
_—
=S — e le—

ch22 (30) 38 [~~~ __—{ch21 (29) 37
back

LRI R

. e

FRONT S/M

Row 1 (wrong side): Ch3 (counts as dc), continue crocheting along ch21: dc in 5" ch from hook,
dcin next ch, sk ch, dcin next 3 ch, *ch1, sk ch, (sc, picot, sc) in next ch, ch1, sk ch, dc in next ch*
3 times, ch1, sk ch, (sc, picot, sc) in next ch, ch1, continue crocheting along the wrong side of the
Eront: *dc in next dc, ch1, (sc, picot, sc) in next ch3-sp, ch1* 11 times, dc in next dc, (ch1, sk
st/sp, dc in next st)x16, continue crocheting along ch22: (ch1, sk ch, dc in next ch)x8, dc in next 2
ch, ch1, sk ch, dcin next 3 ch.

Simplified: 1TF, 1E, 1F 15PS,24E 1F 1E 1F.
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Turn the work (now and each row).

Row 2 (right side): Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dc in next 3 dc, (ch1, sk sp, dc
in next dc)x8, dcin next 2 st/sp, (ch1, sk sp, dc in next dc)x7, dc in next 14 sts/sps, ch1, sk sp, dc
in next dc, (ch3, dc in next dc skipping all sts/sps between them)x15, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1F, 1E, 1F, 8E 1F, 7E 7F 1E 15DE, 1F, 1E 1F.

Row 3: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, ch1, sk sp, dcin next 3 dc, (ch1, sk st, dcin next dc)x5, dcin
next 2 dc, (ch1, sk st, dcin next dc)x6, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk
sp, dcin next dc)x7, dcin next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 15PS, 1E,1F,5E 1F 6E 1F 1E1F7E 1F 1E 1F

Row 4: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dcin next
dc)x8, dcin next 2 st/sp, (ch1, sk st/sp, dc in next dc)x7, dc in next 2 dc, (ch1, sk sp, dc in next
do)x5, dcin next 2 dc, ch1, sk sp, dc in next dc, (ch3, dc in next dc skipping all sts/sps between
them)x15, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 8E 1F, 7E 1F,5E 1F, 1E 15DE, 1F, 1E 1F.

Row 5: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next d¢)x3,
small flower, (ch1, sk sp, dcin next dc)x2, dc in next 2 dc, (ch1, sk st/sp, dc in next dc)x16, dc in
next 2 dc¢, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 15PS, 1E 1F 3E small flower, 2E, 1F, 16 E, 1F, 1E, 1F.

Row 6: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next
dc)x4, dcin next 2 st/sp, (ch1, sk sp, dc in next dc)x7, dc in next 2 st/sp, (ch1, sk sp, dc in next
dc)x3, dcin next 2 dc, (ch1, sk sp, dc in next dc)x3, large flower, (ch1, sk sp, dcin next dc)x2, dcin
next 2 dc, ch1, sk sp, dcin next dc, (ch3, dc in next dc skipping all sts/sps between them)x15, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 4E 1F, 7E 1F, 3E 1F 3E, large flower,2E, 1F, 1E, 15DE, 1F, 1E 1F.
Row 7: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, ch1, sk sp, dc in next 3 dc, (ch1, sk sp, dc in next dc)x5, dcin
next 2 dc, (ch1, sk sp, dcin next dc)x2, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk
sp, dcin next d¢)x5, dc in next 2 st/sp, ch1, sk st, dcin next 3 sts/sps, (ch1, sk sp, dc in next
dc)x3, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F 15PS, 1E, 1F,5E 1F2E 1F1E 1F5E 1F1E1TF3E1F1E 1F
Row 8: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dc in next
dc)x4, dcin next 2 st/sp, (ch1, sk sp/st, dc in next dc)x7, dc in next 2 st/sp, (ch1, sk sp/st, dcin
next dc)x3, dc in next 14 sts/sps, ch1, sk sp, dc in next dc, (ch3, dc in next dc skipping all sts/sps
between them)x15, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 4E 1F 7E 1F,3E 7F 1E 15DE, 1F, 1E 1F.

Row 9: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, (ch1, sk sp/st, dc in next dc)x24, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1TF, 1E, 1F, 15PS,24E 1F 1E 1F.

Row 10: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next
dc)x8, dcin next 2 st/sp, (ch1, sk sp, dc in next dc)x7, dc in next 14 sts/sps, ch1, sk sp, dc in next
dc, (ch3, dcin next dc skipping all sts/sps between them)x15, dc in next 2 dc, ch1, sk sp, dcin
next 3 dc.

Simplified: 1F, 1E, 1F, 8E 1F, 7E 7F, 1E 15DE, 1F, 1E 1F.

Row 11: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, dcin next ch3-sp,
ch1, dcin next dc)x15, ch1, sk sp, dcin next 3 dc, (ch1, sk st, dc in next dc)x5, dc in next 2 dc,
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(ch1, sk st, dcin next dc)x6, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dcin
next dc)x7, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,31E, 1F,5E 1F6E 1F1E 1F7E 1F 1E 1F

Row 12: Ch1 (does not count as a st), sc in same st as ch1 (PM #3), sc in next dc, hdc in next dc,
ch1, sk sp, hdc in next dc, dc in next 2 dc, (ch1, sk sp/st, dc in next dc)x8, dc in next 2 st/sp, (ch1,
sk sp/st, dc in next dc)x7, dcin next 2 dc, (ch1, sk sp, dc in next dc)x5, dc in next 2 dc, (ch1, sk sp,
dc in next dc)x31, dc in next dc, hdc in next dc, ch1, sk sp, hdc in next dc, sc in next 2 dc. PM #4
into the last sc.

Simplified: {2 sc, hdc} instead of 1 F, ch1, {hdc, 2 dc} instead of 1F, 8E, 1F, 7E 1F 5E 1F 31E {2
dc, hdc} instead of 1 F, ch1, {hdc, 2 sc} instead of 1 F.

Row 13: Ch1 (does not count as a st), sl stin next (2 sc, hdc, ch1-sp, hdc, 2 dc), ch2, sk sp, hdcin
next dc, (ch1, sk sp, dcin next dc)x30, dc in next 2 dc, (ch1, sk sp, dc in next dc)x3, small flower,
(ch1, sk sp, dcin next dc)x2, dcin next 2 dc, (ch1, sk sp, dc in next dc)x14, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: 7 sl st, ch2, sk sp, hdc, ch1, 29 E, 1 F, 3 E, small flower, 2 E, 1 F, 14 E, ch1, hdc, sk sp, dc.
Row 14: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x9, dc
in next 2 st/sp, (ch1, sk sp, dcin next dc)x3, dc in next 2 dc, (ch1, sk sp, dc in next dc)x3, large
flower, (ch1, sk sp, dcin next dc)x2, dc in next 2 dc, (ch1, sk sp, dc in next dc)x27, ch1, sk sp, hdc
in next dc, sk sp, dc in next dc.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 8E, 1 F, 3E, 1F, 3 E, large flower, 2 E, 1 F, 27 E, ch1, sk
sp, hdc, sk sp, dc.

Row 15: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x26, dc
in next 2 dc, (ch1, sk sp, dc in next dc)x5, dc in next 2 dc, (ch1, sk sp, dc in next dc)x2, dc in next 2
st/sp, ch1, sk st, dcin next 3 sts/sps, (ch1, sk sp, dcin next dc)x5, ch1, sk sp, hdc in next dc, sk sp,
dcin next dc.

Simplified: Sk 1°" dc, 3 sl st, ch2, sk sp, hdc, ch1, 25E, 1 F, 5E, 1F,2E 1F, 1E 1F 5E, ch1, sksp, hdc,
sk sp, dc.

Row 16: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc)x5,
dcin next 2 st/sp, (ch1, sk sp/st, dc in next dc)x3, dc in next 34 sts/sps, (ch1, sk sp, dc in next
dc)x13, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.

Simplified: Sk 1°" dc, 3 sl st, ch2, sk sp, hdc, ch1, 4E, 1 F, 3E, 17 F, 13 E, ch1, sk sp, hdc, sk sp, dc.

Do not cut the yarn, turn the work and continue to the Front Right Shoulder.

FRONT RIGHT SHOULDER S/M

Row 1 (wrong side): Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin
next dc)x11, dcin next 2 st/sp, dc2tog using next 2 dc.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 10 E, 1 F, dc2tog.

Turn the work (now and each row).

Row 2: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dc in next dc)x8, ch1, sk sp, hdc in next dc, sk
sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 8 E, ch1, sk sp, hdc, sk sp, dc.

Row 3: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc)x6, dc
in next 2 st/sp, dc2tog using next 2 sts.

Simplified: Sk 1°" dc, 3 sl st, ch2, sk sp, hdc, ch1, 5 E, 1 F, dc2tog.

Row 4: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dcin next dc)x3, ch1, sk sp, hdc in next dc, sk
sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 3 E, ch1, sk sp, hdc, sk sp, dc.

Cut the yarn and continue to the Front Left Shoulder.
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FRONT LEFT SHOULDER S/M

Keep the work wrong side facing you. Skip 19 dc from dc2tog of Row 1 of the Front Right
Shoulder. Join the yarn in next dc and pull up a loop.

Row 1 (wrong side): Starting dc2tog, dc in next 3 dc, (ch1, sk st/sp, dc in next dc)x10, ch1, sk sp,
hdc in next dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 10 E, ch1, sk sp, hdc, sk sp, dc.

Turn the work (now and each row).

Row 2: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next d¢)x9, dcin
next dc, dc2tog using next 2 sts.

Simplified: Sk 1** dc, 3 sl st, ch2, sk sp, hdc, ch1, 8 E, 1 F (finished with dc2tog).

Row 3: Starting dc2tog, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x5, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 5 E, ch1, sk sp, hdc, sk sp, dc.

Row 4: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x4, dc in
next dc, dc2tog using next 2 sts.

Simplified: Sk 1" dc, 3 sl st, ch2, sk sp, hdc, ch1, 3 E, 1 F (finished with dc2tog).

Cut the yarn and continue to the Back.

FRONT L/XL
Row 1 (wrong side): Ch3 (counts as dc), continue crocheting along ch29: dcin 5% ch from hook,

dcin next ch, sk ch, dcin next 3 ch, *ch1, sk ch, (sc, picot, sc) in next ch, ch1, sk ch, dc in next ch*
5 times, ch1, sk ch, (sc, picot, sc) in next ch, ch1, continue crocheting along the wrong side of the
Eront: *dc in next dc, ch1, (sc, picot, sc) in next ch3-sp, ch1* 15 times, dc in next dc, (ch1, sk
st/sp, dcin next st)x16, continue crocheting along ch30: (ch1, sk ch, dc in next ch)x12, dcin next
2 ch, ch1, sk ch, dcin next 3 ch.

Simplified: 1F, 1E, 1F, 21PS,28E, 1F, 1E 1F.

Turn the work (now and each row).

Row 2 (right side): Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dc in next 3 dc, (ch1, sk sp, dc
in next dc)x5, *dc in next 2 st/sp, (ch1, sk sp, dc in next dc)x7* 2 times, dc in next 14 sts/sps, ch1,
sk sp, dcin next dc, (ch3, dc in next dc skipping all sts/sps between them)x21, dc in next 2 dc,
ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 5E (1F, 7E)x2, 7F, 1E, 21DE, 1TF, 1E, 1F.

Row 3: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, ch1, sk sp, dc in next 3 dc, (ch1, sk st, dcin next dc)x5, dcin
next 2 dc, (ch1, sk st, dc in next dc)x6, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk
sp, dcin next dc)x5, dcin next 2 st/sp, ch1, sk st, dcin next 3 sts/sps, (ch1, sk sp, dc in next
dc)x3, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F21PS, 1E,1F,5E 1F6E 1F1E 1F5E 1F 1E1F3E1F 1E 1F
Row 4: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dc in next
dc)x4, *dc in next 2 st/sp, (ch1, sk st/sp, dc in next dc)x7* 2 times, dc in next 2 dc, (ch1, sk sp, dc
in next dc)x5, dcin next 2 dc, ch1, sk sp, dc in next dc, (ch3, dc in next dc skipping all sts/sps
between them)x21, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 4E (1F,7Ex2, 1F,5E 1F, 1E21DE, 1F 1E 1F.

Row 5: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x3,
small flower, (ch1, sk sp, dcin next dc)x2, dc in next 2 dc, (ch1, sk st/sp, dc in next dc)x20, dc in
next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 21PS, 1E 1F 3E small flower,2E, 1F,20E, 1F, 1E 1F.

Row 6: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next
dc)x8, dcin next 2 st/sp, (ch1, sk sp, dc in next dc)x7, dc in next 2 st/sp, (ch1, sk sp, dc in next
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dc)x3, dcin next 2 dc, (ch1, sk sp, dc in next dc)x3, large flower, (ch1, sk sp, dcin next dc)x2, dcin
next 2 dc, ch1, sk sp, dcin next dc, (ch3, dc in next dc skipping all sts/sps between them)x21, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 8E 1F, 7E 1F, 3E 1F 3E, large flower,2E, 1F, 1E, 21DE, 1F, 1E 1F.
Row 7: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x5, dcin
next 2 dc, (ch1, sk sp, dcin next dc)x2, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk
sp, dcin next dc)x5, dc in next 2 st/sp, ch1, sk st, dcin next 3 sts/sps, (ch1, sk sp, dc in next
dc)x7, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,21PS, 1E,1F,5E 1F2E 1F 1E1F5E 1F 1E 1F7E1F 1E1F
Row 8: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dc in next
dc)x8, dcin next 2 st/sp, (ch1, sk sp/st, dc in next dc)x7, dc in next 2 st/sp, (ch1, sk sp/st, dcin
next dc)x3, dc in next 14 sts/sps, ch1, sk sp, dc in next dc, (ch3, dc in next dc skipping all sts/sps
between them)x21, dcin next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 8E 1F 7E 1F,3E 7F 1E 21DE 1F 1E 1F.

Row 9: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 15 times, (ch1, sk sp/st, dc in next dc)x28, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1F, 1E, 1F, 21PS,28E 1F 1E 1F.

Rows 10-14: Repeat Rows 2-6.

Row 15: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, dcin next ch3-sp,
ch1, dcin next dc)x21, ch1, sk sp, dcin next 3 dc, (ch1, sk st, dc in next dc)x5, dc in next 2 dc,
(ch1, sk st, dcin next dc)x2, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dcin
next dc)x5, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x7, dcin
next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,43E 1F,5E 1F2E 1F1E 1F5E 1F 1E1F7E1TF1E 1F

Row 16: Ch1 (does not count as a st), sc in same st as ch1 (PM #3), sc in next dc, hdc in next dc,
ch1, sk sp, hdc in next dc, dc in next 2 dc, (ch1, sk sp/st, dc in next dc)x8, dc in next 2 st/sp, (ch1,
sk sp/st, dc in next dc)x7, dc in next 2 dc, (ch1, sk sp, dcin next dc)x3, dc in next 14 dc, (ch1, sk
sp, dcin next dc)x43, dc in next dc, hdc in next dc, ch1, sk sp, hdc in next dc, sc in next 2 dc. PM
#4 into the last sc.

Simplified: {2 sc, hdc} instead of 1 F, ch1, {hdc, 2 dc} instead of 1 F, 8E, 1F, 7E, 1F 3E 7F 43E {2
dc, hdc} instead of 1 F, ch1, {hdc, 2 sc} instead of 1 F.

Row 17: Ch1 (does not count as a st), sl stin next (2 sc, hdc, ch1-sp, hdc, 2 dc), ch2, sk sp, hdcin
next dc, (ch1, sk sp/st, dcin next dc)x67, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.
Simplified: 7 sl st, ch2, sk sp, hdc, ch1, 66 E, ch1, hdc, sk sp, dc.

Row 18: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x63,
ch1, sk sp, hdcin next dc, sk sp, dcin next dc.

Simplified: Sk 1°" dc, 3 sl st, ch2, sk sp, hdc, ch1, 62 E, ch1, sk sp, hdc, sk sp, dc.

Row 19: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x59,
ch1, sk sp, hdc in next dc, sk sp, dcin next dc.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 58 E, ch1, sk sp, hdc, sk sp, dc.

Row 20: S st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x20, dc
in next 32 sts/sps, (ch1, sk sp, dcin next dc)x19, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.
Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 19 E, 16 F, 19 E, ch1, sk sp, hdc, sk sp, dc.

Do not cut the yarn, turn the work and continue to the Front Right Shoulder.

FRONT RIGHT SHOULDER L/XL
Row 1 (wrong side): Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin
next dc)x17, dcin next 2 st/sp, dc2tog using next 2 dc.
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Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 16 E, 1 F, dc2tog.

Turn the work (now and each row).

Row 2: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dc in next dc)x14, ch1, sk sp, hdc in next dc,
sk sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 14 E, ch1, sk sp, hdc, sk sp, dc.

Row 3: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next d¢)x12,
dc in next 2 st/sp, dc2tog using next 2 sts.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 11 E, 1 F, dc2tog.

Row 4: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dcin next dc)x9, ch1, sk sp, hdc in next dc, sk
sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 9 E, ch1, sk sp, hdc, sk sp, dc.

Row 5: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc)x7, dc
in next 2 st/sp, dc2tog using next 2 sts.

Simplified: Sk 1" dc, 3 sl st, ch2, sk sp, hdc, ch1, 6 E, 1 F, dc2tog.

Row 6: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dc in next dc)x4, ch1, sk sp, hdc in next dc, sk
sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 4 E, ch1, sk sp, hdc, sk sp, dc.

Cut the yarn and continue to the Front Left Shoulder.

FRONT LEFT SHOULDER L/XL

Keep the work wrong side facing you. Skip 27 dc from dc2tog of Row 1 of the Front Right
Shoulder. Join the yarn in next dc and pull up a loop.

Row 1 (wrong side): Starting dc2tog, dc in next 3 dc, (ch1, sk st/sp, dc in next dc)x16, ch1, sk sp,
hdc in next dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 16 E, ch1, sk sp, hdc, sk sp, dc.

Turn the work (now and each row).

Row 2: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x15, dc
in next dc, dc2tog using next 2 sts.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 14 E, 1 F (finished with dc2tog).

Row 3: Starting dc2tog, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x11, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 11 E, ch1, sk sp, hdc, sk sp, dc.

Row 4: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x10, dc
in next dc, dc2tog using next 2 sts.

Simplified: Sk 1" dc, 3 sl st, ch2, sk sp, hdc, ch1, 9 E, 1 F (finished with dc2tog).

Row 5: Starting dc2tog, dc in next 3 sts/sps, (ch1, sk sp, dcin next dc)x7, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 7 E, ch1, sk sp, hdc, sk sp, dc.

Row 6: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next d¢)x5, dcin
next dc, dc2tog using next 2 sts.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 4 E, 1 F (finished with dc2tog).

Cut the yarn and continue to the Back.

FRONT 2XL
Row 1 (wrong side): Ch3 (counts as dc), continue crocheting along ch37: dc in 5" ch from hook,
dcin next ch, sk ch, dcin next 3 ch, *ch1, sk ch, (sc, picot, sc) in next ch, ch1, sk ch, dc in next ch*

7 times, ch1, sk ch, (sc, picot, sc) in next ch, ch1, continue crocheting along the wrong side of the
Front: *dc in next dc, ch1, (sc, picot, sc) in next ch3-sp, ch1* 15 times, dc in next dc, (ch1, sk

st/sp, dc in next st)x24, continue crocheting along ch38: (ch1, sk ch, dc in next ch)x16, dc in next
2 ch, ch1, sk ch, dcin next 3 ch.
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Simplified: 1TF, 1E, 1F, 23PS,40E, 1F, 1E 1F.

Turn the work (now and each row).

Row 2 (right side): Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dc in next 3 dc, (ch1, sk sp, dc
in next dc)x8, *dc in next 2 st/sp, (ch1, sk sp, dc in next dc)x7* 3 times, dc in next 14 sts/sps, ch1,
sk sp, dcin next dc, (ch3, dc in next dc skipping all sts/sps between them)x23, dc in next 2 dc,
ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 8E (1F, 7E)x3,7F, 1E 23DE, 1TF, 1E 1F.

Row 3: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 23 times, ch1, sk sp, dcin next 3 dc, (ch1, sk st, dcin next dc)x5, dcin
next 2 dc, (ch1, sk st, dc in next dc)x6, *dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk
sp, dc in next dc)x5* 3 times, (ch1, sk sp, dc in next dc)x2, dc in next 2 dc, ch1, sk sp, dcin next 3
dc.

Simplified: 1F, 1E, 1F,23PS, 1TE,1F,5E 1F 6E (1F 1E 1F5E)x3, 3E 1F 1E1F

Row 4: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dc in next
dc)x8, *dc in next 2 st/sp, (ch1, sk st/sp, dc in next dc)x7* 3 times, dc in next 2 dc, (ch1, sk sp, dc
in next dc)x5, dcin next 2 dc, ch1, sk sp, dc in next dc, (ch3, dc in next dc skipping all sts/sps
between them)x23, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 8E (1F, 7E)x3, TF,5E 1F, 1E 23DE, 1F, 1E 1F.

Row 5: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 23 times, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x3,
small flower, (ch1, sk sp, dcin next dc)x2, dcin next 2 dc, (ch1, sk st/sp, dc in next dc)x32, dcin
next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 23 PS, 1E, 1F, 3E small flower,2E, 1F,32E 1F, 1E 1F.

Row 6: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next
dc)x4, *dc in next 2 st/sp, (ch1, sk sp, dc in next dc)x7* 3 times, dc in next 2 st/sp, (ch1, sk sp, dc
in next dc)x3, dcin next 2 dc, (ch1, sk sp, dc in next dc)x3, large flower, (ch1, sk sp, dc in next
dc)x2, dcin next 2 dc, ch1, sk sp, dc in next dc, (ch3, dc in next dc skipping all sts/sps between
them)x23, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 4E (1F, 7E)x3, 1F, 3E 1F 3E large flower, 2E, 1F, 1E 23DE, 1F, 1E 1F.
Row 7: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 23 times, ch1, sk sp, dc in next 3 dc, (ch1, sk sp, dc in next dc)x5, dcin
next 2 dc, (ch1, sk sp, dc in next dc)x2, *dc in next 2 st/sp, ch1, sk st, dcin next 3 sts/sps, (ch1, sk
sp, dcin next dc)x5* 3 times, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dcin
next dc)x3, dc in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,23PS, 1E,1F,5E 1F2E (1F,1E 1F5Ex3, 1F1E1F3E1F1E1F
Row 8: Ch3 (counts as dc), dcin next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dc in next
dc)x4, *dc in next 2 st/sp, (ch1, sk sp/st, dc in next dc)x7* 3 times, dc in next 2 st/sp, (ch1, sk
sp/st, dcin next dc)x3, dc in next 14 sts/sps, ch1, sk sp, dc in next dc, (ch3, dc in next dc skipping
all sts/sps between them)x23, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F, 4E (1F, 7Ex3, 1F,3E 7F 1E 23DE, 1F, 1E 1F.

Row 9: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next
ch3-sp, ch1, dcin next dc* 23 times, (ch1, sk sp/st, dc in next dc)x40, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1F, 1E, 1F, 23PS,40E, 1F, 1E 1F.

Rows 10-17: Repeat Rows 2-9.

Row 18: Repeat Row 2.

Row 19: Ch3 (counts as dc), dc in next 2 sts, ch1, sk sp, dcin next 3 dc, (ch1, dcin next ch3-sp,
ch1, dcin next dc)x23, ch1, sk sp, dcin next 3 dc, (ch1, sk st, dc in next dc)x5, dc in next 2 dc,
(ch1, sk st, dcin next dc)x6, *dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dcin
next dc)x5* 3 times, (ch1, sk sp, dcin next dc)x2, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Zen Garden - T-shirt | No. 1276-241-5788 | © Hobbii 2024 | 15



& hobbii

Simplified: 1F, 1E, 1F,47E 1F 5E 1F,6E (1F 1E 1F,5E)x3, 3E 1F 1E 1F.

Row 20: Ch1 (does not count as a st), sc in same st as ch1 (PM #3), sc in next dc, hdc in next dc,
ch1, sk sp, hdc in next dc, dc in next 2 dc, (ch1, sk sp/st, dc in next dc)x8, *dc in next 2 st/sp,
(ch1, sk st/sp, dc in next dc)x7* 3 times, dc in next 2 dc, (ch1, sk sp, dc in next dc)x5, dc in next 2
dc, (ch1, sk sp, dcin next dc)x47, dcin next d¢, hdc in next dc, ch1, sk sp, hdc in next dc, scin
next 2 dc. PM #4 into the last sc.

Simplified: {2 sc, hdc} instead of 1 F, ch1, {hdc, 2 dc} instead of 1F, 8E, (1 F, 7E)x3, 1F, 5E 1F 47,
{2 dc, hdc} instead of 1 F, ch1, {hdc, 2 sc} instead of 1 F.

Row 21: Ch1 (does not count as a st), sl stin next (2 sc, hdc, ch1-sp, hdc, 2 dc), ch2, sk sp, hdcin
next dc, (ch1, sk sp, dcin next dc)x46, dc in next 2 dc, (ch1, sk sp, dc in next dc)x3, small flower,
(ch1, sk sp, dcin next dc)x2, dcin next 2 dc, (ch1, sk sp, dc in next dc)x30, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: 7 sl st, ch2, sk sp, hdc, ch1, 45 E, 1 F, 3 E, small flower, 2 E, 1 F, 30 E, ch1, hdc, sk sp, dc.
Row 22: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x9, *dc
in next 2 st/sp, (ch1, sk sp, dcin next dc)x3*2 times, dc in next 2 dc, (ch1, sk sp, dc in next dc)x3,
large flower, (ch1, sk sp, dcin next dc)x2, dcin next 2 dc, (ch1, sk sp, dc in next dc)x43, ch1, sk
sp, hdcin next dc, sk sp, dc in next dc.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 8E, (1F, 7 F)x2, 1 F, 3E, 1F, 3E, large flower, 2 E, 1F,
43 E, ch1, sk sp, hdc, sk sp, dc.

Row 23: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x42, dc
in next 2 dc, (ch1, sk sp, dcin next dc)x5, dc in next 2 dc, (ch1, sk sp, dc in next dc)x2, *dc in next
2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x5* 3 times, ch1, sk sp, hdc in
next dc, sk sp, dcin next dc.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1,41E, 1F, 5E 1F,2E (1F, 1E 1F 5E)x3, chl, sksp,
hdc, sk sp, dc.

Row 24: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc¢)x5,
*dc in next 2 st/sp, (ch1, sk sp/st, dc in next dc)x7* 2 times, dc in next 2 st/sp, (ch1, sk sp/st, dcin
next dc)x3, dc in next 40 sts/sps, (ch1, sk sp, dc in next dc)x26, ch1, sk sp, hdc in next dc, sk sp,
dcin next dc.

Simplified: Sk 1°" dc, 3 sl st, ch2, sk sp, hdc, ch1, 4E, (1 F, 7E)x2, 1 F, 3E, 20 F, 26 E, ch1, sk sp, hdc, sk
sp, dc.

Do not cut the yarn, turn the work and continue to the Front Right Shoulder.

FRONT RIGHT SHOULDER 2XL

Row 1 (wrong side): Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin
next dc)x24, dc in next 2 st/sp, dc2tog using next 2 dc.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 23 E, 1 F, dc2tog.

Turn the work (now and each row).

Row 2: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dc in next dc)x21, ch1, sk sp, hdc in next dc,
sk sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 21 E, ch1, sk sp, hdc, sk sp, dc.

Row 3: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdcin next dc, (ch1, sk sp/st, dc in next dc)x19,
dcin next 2 st/sp, dc2tog using next 2 sts.

Simplified: Sk 1°" dc, 3 sl st, ch2, sk sp, hdc, ch1, 18 E, 1 F, dc2tog.

Row 4: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dc in next dc)x16, ch1, sk sp, hdc in next dc,
sk sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 16 E, ch1, sk sp, hdc, sk sp, dc.

Row 5: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc)x14,
dcin next 2 st/sp, dc2tog using next 2 sts.

Simplified: Sk 1°" dc, 3 sl st, ch2, sk sp, hdc, ch1, 13 E, 1 F, dc2tog.
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Row 6: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dcin next dc)x11, ch1, sk sp, hdc in next dc,
sk sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 11 E, ch1, sk sp, hdc, sk sp, dc.

Row 7: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc)x9, dc
in next 2 st/sp, dc2tog using next 2 sts.

Simplified: Sk 1" dc, 3 sl st, ch2, sk sp, hdc, ch1, 8 E, 1 F, dc2tog.

Row 8: Starting dc2tog, dc in next 2 dc, (ch1, sk sp, dc in next dc)x6, ch1, sk sp, hdc in next dc, sk
sp, dcin next dc.

Simplified: 1 F (started with dc2tog), 6 E, ch1, sk sp, hdc, sk sp, dc.

Cut the yarn and continue to the Front Left Shoulder.

FRONT LEFT SHOULDER 2XL

Keep the work wrong side facing you. Skip 25 dc from dc2tog of Row 1 of the Front Right
Shoulder. Join the yarn in next dc and pull up a loop.

Row 1 (wrong side): Starting dc2tog, dc in next 3 dc, (ch1, sk st/sp, dc in next dc)x23, ch1, sk sp,
hdc in next dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 23 E, ch1, sk sp, hdc, sk sp, dc.

Turn the work (now and each row).

Row 2: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x22, dc
in next dc, dc2tog using next 2 sts.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 21 E, 1 F (finished with dc2tog).

Row 3: Starting dc2tog, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x18, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 18 E, ch1, sk sp, hdc, sk sp, dc.

Row 4: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x17, dc
in next dc, dc2tog using next 2 sts.

Simplified: Sk 1" dc, 3 sl st, ch2, sk sp, hdc, ch1, 16 E, 1 F (finished with dc2tog).

Row 5: Starting dc2tog, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x14, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 14 E, ch1, sk sp, hdc, sk sp, dc.

Row 6: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x12, dc
in next dc, dc2tog using next 2 sts.

Simplified: Sk 1* dc, 3 sl st, ch2, sk sp, hdc, ch1, 11 E, 1 F (finished with dc2tog).

Row 7: Starting dc2tog, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x9, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Dc2tog, 1 F, 9 E, ch1, sk sp, hdc, sk sp, dc.

Row 8: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdcin next dc, (ch1, sk sp, dc in next dc)x7, dcin
next dc, dc2tog using next 2 sts.

Simplified: Sk 1" dc, 3 sl st, ch2, sk sp, hdc, ch1, 6 E, 1 F (finished with dc2tog).

Cut the yarn and continue to the Back.

BACK S/M
Keep the work wrong side facing you. Join the yarn in stitch marked as #1 and pull up a loop.
Row 1 (wrong side): Work along the unused side of ch22: ch3 (counts as dc), dc in next 2 ch

(opposite to dc of the Front), ch1, sk ch, dcin next 3 ch, (ch1, sk ch, dc in next ch)x7, ch1, sk ch,
continue crocheting along the wrong side of the Back: dc in next dc (this is the last dc of the
Body), (ch1, sk sp/st, dc in next dc)x14, dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot,

sc) in next ch3-sp, dcin next dc* 11 times, continue crocheting along the unused side of ch21:
ch1, (sc, picot, sc) in next ch of ch21 (opposite to the same sts of the Front), ch1, sk ch, dc in next
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ch, *ch1, sk ch, (sc, picot, sc) in next ch, ch1, sk ch, dcin next ch* 3 times, dcin next 2 ch, ch1, sk
ch, dcin next 3 ch.

Simplified: 1F, 1E, 1F,22E 1F, 1E 1F 15PS, 1F, 1E 1F.

Turn the work (now and each row).

Row 2: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x15, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dc in next
dc)x7, dcin next 2 st/sp* 2 times, (ch1, sk sp, dc in next dc)x6, dc in next 2 dc, ch1, sk sp, dcin
next 3 dc.

Simplified: 1F, 1E, 1F, 15DE, 1F, 1E 1F (7E, 1F)x2, 6 E, 1F 1E 1F.

Row 3: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dcin next
dc)x5, dcin next 2 st/sp, ch1, sk st, dc in next 3 sts/sps* 2 times, (ch1, sk sp, dc in next dc)x6,
dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dc in next dc*
15 times, dc in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: (1 F, 1E, 1F 5E)x3,(1E 1Fx2, 15PS, 1F, 1E 1F.

Row 4: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x15, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk st/sp, dcin
next dc)x7, dc in next 2 st/sp* 2 times, (ch1, sk st/sp, dc in next dc)x6, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1F, 1E, 1F, 15DE, 1F, 1E 1F (7E 1F)x2, 6E 1F 1E 1F.

Row 5: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk st/sp, dc in next
dc)x22, dcin next 2 dc, ch1, sk sp, dc in next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dcin
next dc* 15 times, dc in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,22E 1F, 1E 1F 15PS, 1F, 1E 1F.

Row 6: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x15, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk sp, dcin next
dc)x3, dcin next 2 st/sp, *(ch1, sk sp, dc in next dc)x7, dc in next 2 st/sp* 2 times, (ch1, sk sp, dc
in next dc)x2, dc in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 15DE, 1F, 1E 1F3E (1F,7E)x2, 1F2E 1TF 1E 1F.

Row 7: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dcin next 3
sts/sps)x2, *(ch1, sk sp, dc in next dc)x5, dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps* 2
times, (ch1, sk sp, dc in next dc)x2, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc)
in next ch3-sp, ch1, dcin next dc* 15 times, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.
Simplified: (1 F, 1E)x3, 1F,(5E 1F 1E 1Fx2,2E 1F 1E 1F 15PS, 1F 1E 1F.

Row 8: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x15, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk st/sp, dc in next
dc)x3, dcin next 2 st/sp, *(ch1, sk st/sp, dcin next dc)x7, dc in next 2 st/sp* 2 times, dc in next 2
dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F, 15DE, 1F, 1E 1F,3E (1F, 7Ex2, 1F2E 1F 1E 1F.

Row 9: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk st/sp, dc in next
dc)x22, dcin next 2 dc, ch1, sk sp, dc in next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dcin
next dc* 15 times, dc in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,22E 1F, 1E 1F 15PS, 1F, 1E 1F.

Row 10: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch3, dc in next dc
skipping all sts/sps between them)x15, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dc
in next d¢)x7, dcin next 2 st/sp* 2 times, (ch1, sk sp, dc in next dc)x6, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1F, 1E, 1F, 15DE, 1F, 1E, 1F (7E, 1F)x2, 6 E, 1F 1E 1F.

Row 11: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dcin next
dc)x5, dcin next 2 st/sp, ch1, sk st, dc in next 3 sts/sps* 2 times, (ch1, sk sp, dc in next dc)x6,
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dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, dcin next ch3-sp, ch1, dc in next dc)x15, dcin
next 2 dc, ch1, sk sp, dcin next 3 dc,

Simplified: (1F, TE, 1TF, 5E)x3, (1E, 1F)x2,30E, 1F, 1E 1F.

Row 12: Ch1 (does not count as a st), sc in same st as ch1 (PM #5), sc in next dc, hdc in next dc,
ch1, sk sp, hdc in next dc, dc in next 2 dc, (ch1, sk sp, dc in next dc)x30, dc in next 2 st/sp, ch1, sk
sp, dcin next 3 dc, *(ch1, sk sp/st, dc in next dc)x7, dc in next 2 st/sp* 2 times, (ch1, sk sp/st, dc
in next dc)x6, dcin next dc, hdcin next dc, ch1, sk sp, hdc in next dc, sc in next 2 dc. PM #6 into
the last sc.

Simplified: {2 sc, hdc} instead of 1 F, ch1, {hdc, 2 dc} instead of 1F, 30E, TF, 1E, 1F, (7E 1F)x2, 6E,
{2 dc, hdc} instead of 1 F, ch1, {hdc, 2 sc} instead of 1 F.

Row 13: Ch1 (does not count as a st), sl st in next (3 sts, ch1-sp and 3 sts - till 2" dc), ch2, sk sp,
hdc in next dc, (ch1, sk sp/st, dc in next dc)x21, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1,
sk sp, dc in next dc)x28, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.

Simplified: 7 sl st, ch2, hdc, ch1, 20 E, 1 F, 1E, 1 F, 28 E, ch1, hdc, sk sp, dc.

Row 14: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x27, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next dc)x3, dc in next 2 dc, (ch1, sk sp,
dcin next dc)x7, dcin next 2 dc, (ch1, sk sp, dc in next dc)x6, ch1, sk sp, hdc in next dc, sk sp, dc
in next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 26 E, 1F, 1E, 1F, 3E 1F 7E 1F 6E, chl, hdc, sk sp, dc.

Row 15: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x3, dc
in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x5, dc in next 2 st/sp, ch1,
sk st, dcin next 3 sts/sps, (ch1, sk sp, dc in next dc)x2, dc in next 2 dc, ch1, sk sp, dcin next 3 dc,
(ch1, sk sp, dcin next dc)x24, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1,3E, 1F, 1E, 1F,5E 1F 1E 1F2E 1F 1E 1F 24E, ch],
hdc, sk sp, dc.

Row 16: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x23, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dc in next dc)x3, dc in next 2 dc, (ch1, sk
sp/st, dcin next dc)x7, dcin next 2 dc, (ch1, sk sp/st, dc in next dc)x2, ch1, sk sp, hdc in next dc,
sk sp, dcin next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1,22E, 1F, 1E 1F 3E 1F 7E 1F 2E, chl, hdc, sk sp, dc.

Row 17: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc)x13,
dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x20, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 12E, 1F, 1E 1F 20E, chi, hdc, sk sp, dc.

Row 18: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x9, dc
in next 30 sts/sps, (ch1, sk sp, dcin next dc)x8, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.
Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 8 E, 15 F, 8 E, ch1, hdc, sk sp, dc.

Do not cut the yarn, turn the work and continue to the Back Left Shoulder.

BACK LEFT SHOULDER S/M

Rows 1-2: Repeat Rows 3-4 of the Front RIGHT shoulder. Cut the yarn.

Finish both shoulders (Front Right and Back Left) with final rows. To do this, keep the work right
side facing you. Join the yarn into the starting dc2tog of Row 4 of the Front / Row 2 of the Back
and pull up a loop.

Final row: Ch3 (counts as dc), dc in next 10 sts/sps, continue crocheting along the shoulder till
the last sc of Row 12 of the Front/Back (marker #4/6): (dc around post of next dc, dc in next dc,
dc in next ch1-sp, dc in next hdc, dc around ch2-sp, dc in next dc, dc in next ch1-sp, dc in next
dc)x4 omitting last 2 dc, dc in next 6 sts/sps. (Total: 47 dc).

Simplified: Work along the shoulder from starting dc2tog of Row 4 of the Front / Row 2 of the Back till
last sc of Row 12 of the Front/Back (marker #4/6), 1 dc in each st/sp =47 dc.
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Continue to the Back Right Shoulder.

BACK RIGHT SHOULDER S/M

Keep the work wrong side facing you. Skip 25 dc from dc2tog of Row 1 of Back Left Shoulder.
Join the yarn in next dc and pull up a loop.

Rows 1-2: Repeat Rows 3-4 of the Front LEFT shoulder. Cut the yarn.

Finish both shoulders (Front Left and Back Right) with final rows. To do this, keep the work right
side facing you. Join the yarn into the 1* sc of Row 12 of the Front/Back (marker #3/5) and pull
up a loop.

Final row: Ch3 (counts as dc), dc in next 6 sts/sps, continue crocheting along the shoulder till
the last dc2tog of Row 4 of the Front / Row 2 of the Back: (dc around post of next d¢, dc in next
hdc, dc in next ch1-sp, dc in next dc, dc around ch2-sp, dc in next hdc, dc in next ch1-sp, dcin
next dc)x4, dc in next 8 sts/sps. (Total: 47 dc).

Simplified: Work along the shoulder from the 1* sc of Row 12 of the Front/Back (marker #3/5) till last
dc2tog of Row 4 of the Front / Row 2 of the Back, 1 dc in each st/sp =47 dc.

Leave a long tail (approx. 2 length of the final row) and cut the yarn. Using mattress stitch, sew
both halves of the right and both halves of the left shoulders together.

BACK L/XL

Keep the work wrong side facing you. Join the yarn in stitch marked as #1 and pull up a loop.
Row 1 (wrong side): Work along the unused side of ch30: ch3 (counts as dc), dc in next 2 ch
(opposite to dc of the Front), ch1, sk ch, dcin next 3 ch, (ch1, sk ch, dcin next ch)x11, ch1, sk ch,

continue crocheting along the wrong side of the Back: dc in next dc (this is the last dc of the
Body), (ch1, sk sp/st, dc in next dc)x14, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, *ch1, (sc, picot,

sc) in next ch3-sp, dcin next dc* 11 times, continue crocheting along the unused side of ch29:
ch1, (sc, picot, sc) in next ch of ch29 (opposite to the same sts of the Front), ch1, sk ch, dcin next
ch, *ch1, sk ch, (sc, picot, sc) in next ch, ch1, sk ch, dc in next ch* 5 times, dc in next 2 ch, ch1, sk
ch, dcin next 3 ch.

Simplified: 1F, 1E 1F 26E 1F 1E 1F21PS, 1F 1E 1F.

Turn the work (now and each row).

Row 2: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x21, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dc in next
dc)x7, dcin next 2 st/sp* 3 times, (ch1, sk sp, dcin next dc)x2, dc in next 2 dc, ch1, sk sp, dcin
next 3 dc.

Simplified: 1F, 1E, 1F,21DE, 1F, 1E, 1F, (7E 1F)x3,2E 1F, 1E 1F.

Row 3: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, ch1, sk sp, dc in next dc,
*dc in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x5* 3 times, *ch1, sk
sp, dcin next 3 dc* 2 times, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dcin next dc* 21 times, dcin
next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: (1 F, 1E)x3, TF,(5E 1F 1E 1FAx2, 6E 1F 1E 1F21PS, 1F 1E 1F.

Row 4: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x21, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk st/sp, dcin
next dc)x7, dcin next 2 st/sp* 3 times, (ch1, sk st/sp, dcin next dc)x2, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1TF, 1E, 1TF,21DE, 1F, 1E 1F (7E 1TF)x3,2E 1F 1E 1F.

Row 5: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk st/sp, dc in next
dc)x26, dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dcin
next dc* 21 times, dc in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1TF, 1E, 1TF, 26 E, 1F, 1E 1F21PS, 1F, 1E 1F.
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Row 6: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x21, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next
dc)x3, dcin next 2 st/sp, *(ch1, sk sp, dc in next dc)x7, dc in next 2 st/sp* 2 times, (ch1, sk sp, dc
in next dc)x6, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,21DE, 1F, 1E 1F3E (1F,7E)x2, 1F,6E 1F 1E 1F.

Row 7: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dc in next 3 dc, *(ch1, sk sp, dcin next
dc)x5, dcin next 2 st/sp, ch1, sk st, dc in next 3 sts/sps* 3 times, (ch1, sk sp, dc in next dc)x2, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dc in next dc* 21
times, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, (5E 1F 1E 1F)x3,2E 1F 1E 1F21PS,1F, 1E 1F.

Row 8: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x21, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk st/sp, dcin next
dc)x3, *dc in next 2 st/sp, (ch1, sk st/sp, dc in next dc)x7* 3 times, dc in next 2 dc, (ch1, sk st/sp,
dcin next dc)x6, dcin next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F,21DE, 1F, 1E 1F,3E (1F,7Ex2, 1F,6E 1F 1E 1F.

Row 9: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk st/sp, dc in next
dc)x26, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dcin
next dc* 21 times, dc in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,26E 1F, 1E 1F21PS, 1TF 1E 1F.

Rows 10-14: Repeat Rows 2-6.

Row 15: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dcin next
dc)x5, dcin next 2 st/sp, ch1, sk st, dcin next 3 sts/sps* 3 times, (ch1, sk sp, dc in next dc)x2, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, dc in next ch3-sp, ch1, dcin next dc* 21 times, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, (5E 1F 1E 1F)x3,2E 1F 1E 1F42E 1F 1E 1F

Row 16: Ch1 (does not count as a st), sc in same st as ch1 (PM #5), sc in next dc, hdc in next dc,
ch1, sk sp, hdc in next dc, dc in next 2 dc, (ch1, sk sp, dcin next dc)x42, dc in next 2 st/sp, ch1, sk
sp, dcin next 3 dc, (ch1, sk sp/st, dc in next dc)x3, *dc in next 2 st/sp, (ch1, sk sp/st, dc in next
dc)x7* 2 times, dcin next 2 dc, (ch1, sk sp/st, dc in next dc)x6, dc in next dc, hdc in next dc, chf1,
sk sp, hdc in next dc, sc in next 2 dc. PM #6 into the last sc.

Simplified: {2 sc, hdc} instead of 1 F, ch1, {hdc, 2 dc} instead of 1F, 42E, 1F, 1E 1F 3E (1F 7E)x2,
1F, 6 E {2dc hdc}instead of 1F, ch1, {hdc, 2 sc} instead of 1 F.

Row 17: Ch1 (does not count as a st), sl st in next (3 sts, ch1-sp and 3 sts - till 2" dc), ch2, sk sp,
hdc in next dc, (ch1, sk sp/st, dc in next dc)x25, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1,
sk sp, dcin next dc)x40, ch1, sk sp, hdc in next dc, sk sp, dcin next dc.

Simplified: 7 sl st, ch2, hdc, ch1, 24 E, 1 F, 1 E, 1 F, 40 E, ch1, hdc, sk sp, dc.

Row 18: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dcin next dc)x39, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dc in next dc)x7, dc in next 2 dc* 2 times,
(ch1, sk sp, dcin next dc)x6, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 38 E, 1F, 1E, 1F, (7E, 1F)x2, 6 E, ch1, hdc, sk sp, dc.

Row 19: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x4, *dc
in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x5* 2 times, (ch1, sk sp,
dcin next 3 dc)x2, (ch1, sk sp, dc in next dc)x36, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.
Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 3E, 1F, 1E 1F5E 1F 1E 1F 6E 1F 1E 1F 36E, chl,
hdc, sk sp, dc.

Row 20: S st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x35, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp/st, dc in next dc)x7, dc in next 2 dc* 2 times,
(ch1, sk sp/st, dc in next dc)x2, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 34 E, 1TF, 1E 1F,(7E 1F)x2, 2E ch1, hdc, sk sp, dc.
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Row 21: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp/st, dc in next dc)x17,
dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x32, ch1, sk sp, hdc in next
dc, sk sp, dcin next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 16 E, 1 F, 1E, 1F 32 E chi, hdc, sk sp, dc.

Row 22: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x15, dc
in next 38 sts/sps, (ch1, sk sp, dcin next dc)x14, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.
Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 14 E, 19 F, 14 E, ch1, hdc, sk sp, dc.

Do not cut the yarn, turn the work and continue to the Back Left Shoulder.

BACK LEFT SHOULDER L/XL

Rows 1-4: Repeat Rows 3-6 of the Front RIGHT shoulder. Cut the yarn.

Finish both shoulders (Front Right and Back Left) with final rows. To do this, keep the work right
side facing you. Join the yarn into the starting dc2tog of Row 6 of the Front / Row 4 of the Back
and pull up a loop.

Final row: Ch3 (counts as dc), dc in next 12 sts/sps, continue crocheting along the shoulder till
the last sc of Row 16 of the Front/Back (marker #4/6): (dc around post of next dc, dc in next dc,
dc in next ch1-sp, dc in next hdc, dc around ch2-sp, dc in next dc, dc in next ch1-sp, dc in next
dc)x5 omitting last 2 dc, dc in next 6 sts/sps. (Total: 57 dc).

Simplified: Work along the shoulder from starting dc2tog of Row 6 of the Front / Row 4 of the Back till
last sc of Row 16 of the Front/Back (marker #4/6), 1 dc in each st/sp = 57 dc.

Continue to the Back Right Shoulder.

BACK RIGHT SHOULDER L/XL

Keep the work wrong side facing you. Skip 33 dc from dc2tog of Row 1 of the Back Left Shoulder.
Join the yarn in next dc and pull up a loop.

Rows 1-4: Repeat Rows 3-6 of the Front LEFT shoulder. Cut the yarn.

Finish both shoulders (Front Left and Back Right) with final rows. To do this, keep the work right
side facing you. Join the yarn into the 1% sc of Row 16 of the Front/Back (marker #3/5) and pull
up a loop.

Final row: Ch3 (counts as dc), dc in next 6 sts/sps, continue crocheting along the shoulder till

the last dc2tog of Row 6 of the Front / Row 4 of the Back: (dc around post of next dc, dc in next
hdc, dc in next ch1-sp, dc in next dc, dc around ch2-sp, dc in next hdc, dc in next ch1-sp, dcin

next dc)x5, dc in next 10 sts/sps. (Total: 57 dc).
Simplified: Work along the shoulder from the 1* sc of Row 16 of the Front/Back (marker #3/5) till last
dc2tog of Row 6 of the Front / Row 4 of the Back, 1 dc in each st/sp = 57 dc.

Leave a long tail (approx. 2 length of the final row) and cut the yarn. Using mattress stitch, sew
both halves of the right and both halves of the left shoulders together.

BACK 2XL

Keep the work wrong side facing you. Join the yarn in stitch marked as #1 and pull up a loop.
Row 1 (wrong side): Work along the unused side of ch38: ch3 (counts as dc), dc in next 2 ch
(opposite to dc of the Front), ch1, sk ch, dcin next 3 ch, (ch1, sk ch, dc in next ch)x15, ch1, sk ch,
continue crocheting along the wrong side of the back: dc in next dc (this is the last dc of the
Body), (ch1, sk sp/st, dc in next dc)x22, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot,
sc) in next ch3-sp, dc in next dc* 15 times, contin rocheting along the un i fch37:
ch1, (sc, picot, sc) in next ch of ch37 (opposite to the same sts of the Front), ch1, sk ch, dcin next
ch, *ch1, sk ch, (sc, picot, sc) in next ch, ch1, sk ch, dcin next ch* 8 times, dcin next 2 ch, ch1, sk
ch, dcin next 3 ch.

Simplified: 1F, 1E, 1F,38E 1F, 1E 1F23PS, 1TF, 1E 1F.
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Turn the work (now and each row).

Row 2: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x23, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dc in next
dc)x7, dcin next 2 st/sp* 4 times, (ch1, sk sp, dc in next dc)x6, dc in next 2 dc, ch1, sk sp, dcin
next 3 dc.

Simplified: 1F, 1E, 1F,23DE, 1F, 1TE, 1F, (7E, 1F)x4, 6 E, 1F, 1E 1F.

Row 3: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, *(ch1, sk sp, dcin next
dc)x5, dcin next 2 st/sp, ch1, sk st, dcin next 3 sts/sps* 4 times, (ch1, sk sp, dc in next dc)x6,
dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dc in next dc*
23 times, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: (1 F, 1E, 1F 5E)x5,(1E 1F)x2,23PS, 1F, 1E 1F.

Row 4: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x23, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk st/sp, dcin
next dc)x7, dcin next 2 st/sp* 4 times, (ch1, sk st/sp, dc in next dc)x6, dc in next 2 dc, ch1, sk sp,
dcin next 3 dc.

Simplified: 1F, 1E, 1F,23DE, 1F, 1E, 1F, (7E, 1F)x4, 6 E, 1F, 1E 1F.

Row 5: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk st/sp, dc in next
dc)x38, dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dcin
next dc* 23 times, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F,38E 1F 1E 1F,23PS, 1F, 1E 1F.

Row 6: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x23, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk sp, dcin next
dc)x3, dcin next 2 st/sp, *(ch1, sk sp, dc in next dc)x7, dc in next 2 st/sp* 4 times, (ch1, sk sp, dc
in next dc)x2, dcin next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,23DE, 1F, 1E, 1F3E (1F,7E)x4, 1F2E 1F 1E 1F.

Row 7: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk sp/st, dc in next 3
sts/sps)x2, *(ch1, sk sp, dc in next dc)x5, dcin next 2 st/sp, ch1, sk st, dc in next 3 sts/sps* 4
times, (ch1, sk sp, dc in next dc)x2, dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc)
in next ch3-sp, ch1, dcin next dc* 23 times, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.
Simplified: (1 F, 1E)x3, 1F, (5E 1F 1E 1Fx4, 2E 1F 1E 1F23PS, 1F 1E 1F.

Row 8: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch3, dc in next dc skipping
all sts/sps between them)x23, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1, sk st/sp, dcin next
dc)x3, dcin next 2 st/sp, *(ch1, sk st/sp, dc in next dc)x7, dc in next 2 st/sp* 4 times, dc in next 2
dc, ch1, sk sp, dcin next 3 dc.

Simplified: 1F, 1E, 1F,23DE, 1TF, 1E 1F,3E (1F, 7E)x4, 1F2E 1F 1E 1F.

Row 9: Ch3 (counts as dc), dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk st/sp, dc in next
dc)x38, dcin next 2 dc, ch1, sk sp, dcin next 3 dc, *ch1, (sc, picot, sc) in next ch3-sp, ch1, dcin
next dc* 23 times, dc in next 2 dc, ch1, sk sp, dc in next 3 dc.

Simplified: 1F, 1E, 1F,38E 1F 1E 1F23PS,1F, 1E 1F.

Rows 10-17: Repeat Rows 2-9.

Row 18: Repeat Row 2.

Row 19: Ch3 (counts as dc), dc in next 2 dc, ch1, sk sp, dcin next 3 dc, *(ch1, sk sp, dc in next
dc)x5, dcin next 2 st/sp, ch1, sk st, dcin next 3 sts/sps* 4 times, (ch1, sk sp, dc in next dc)x6,
dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, dcin next ch3-sp, ch1, dc in next dc)x23, dcin
next 2 dc, ch1, sk sp, dcin next 3 dc.

Simplified: (1 F, 1TE, 1F, 5E)x5, (1E 1F)x2,46E 1F 1E 1F.

Row 20: Ch1 (does not count as a st), scin same st as ch1 (PM #5), sc in next dc, hdc in next dc,
ch1, sk sp, hdc in next dc, dc in next 2 dc, (ch1, sk sp, dc in next dc)x46, dc in next 2 st/sp, ch1, sk
sp, dcin next 3 dc, *(ch1, sk sp/st, dc in next dc)x7, dc in next 2 st/sp* 4 times, (ch1, sk sp/st, dc
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in next dc)x6, dc in next dc, hdc in next dc, ch1, sk sp, hdc in next dc, sc in next 2 dc. PM #6 into
the last sc.

Simplified: {2 sc, hdc} instead of 1 F, ch1, {hdc, 2 dc} instead of 1F, 46 E, 1TF, 1E, 1F,(7E 1F)x4, 6 E,
{2 dc, hdc} instead of 1 F, ch1, {hdc, 2 sc} instead of 1 F.

Row 21: Ch1 (does not count as a st), sl stin next (3 sts, ch1-sp and 3 sts - till 2" dc), ch2, sk sp,
hdc in next dc, (ch1, sk sp/st, dc in next dc)x37, dc in next 2 dc, ch1, sk sp, dc in next 3 dc, (ch1,
sk sp, dc in next dc)x44, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.

Simplified: 7 sl st, ch2, hdc, ch1, 36 E, 1 F, 1 E, 1 F, 44 E, ch1, hdc, sk sp, dc.

Row 22: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x43, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dcin next dc)x3, *dc in next 2 dc, (ch1, sk sp,
dc in next dc)x7* 3 times, dc in next 2 dc, (ch1, sk sp, dc in next dc)x6, ch1, sk sp, hdc in next dc,
sk sp, dcin next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 42 E, 1TF, 1E 1F 3E (1F 7E)x3, 1F 6E, chi, hdc, sk sp, dc.
Row 23: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x3, *dc
in next 2 st/sp, ch1, sk st, dc in next 3 sts/sps, (ch1, sk sp, dc in next dc)x5* 3 times, dc in next 2
st/sp, ch1, sk st, dcin next 3 sts/sps, (ch1, sk sp, dcin next dc)x2, dc in next 2 dc, ch1, sk sp, dcin
next 3 dc, (ch1, sk sp, dc in next dc)x40, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 3E, (1F, 1E, 1F,5Ex3, 1TF, 1E 1F,2E 1F 1E 1F 40E, ch1,
hdc, sk sp, dc.

Row 24: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x39, dc
in next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp/st, dc in next dc)x3, *dc in next 2 dc, (ch1, sk
sp/st, dc in next dc)x7* 3 times, dc in next 2 dc, (ch1, sk sp/st, dc in next dc)x2, ch1, sk sp, hdc in
next dc, sk sp, dcin next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 38 E, 1TF, 1E, 1F, 3E (1F, 7E)x3, 1F 2E, chi, hdc, sk sp, dc.
Row 25: S| st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk st/sp, dc in next dc)x29,
dcin next 2 dc, ch1, sk sp, dcin next 3 dc, (ch1, sk sp, dc in next dc)x38, ch1, sk sp, hdc in next
dc, sk sp, dc in next dc.

Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 28 E, 1F, 1E, 1 F, 38 E, ch1, hdc, sk sp, dc.

Row 26: Sl st in next (hdc, ch1-sp, dc), ch2, sk sp, hdc in next dc, (ch1, sk sp, dc in next dc)x23, dc
in next 42 dc, (ch1, sk sp/st, dcin next dc)x22, ch1, sk sp, hdc in next dc, sk sp, dc in next dc.
Simplified: Sk dc, 3 sl st, ch2, hdc, ch1, 22 E, 21 F, 22 E, ch1, hdc, sk sp, dc.

Do not cut the yarn, turn the work and continue to the Back Left Shoulder.

BACK LEFT SHOULDER 2XL

Rows 1-6: Repeat Rows 3-8 of the Front RIGHT shoulder. Cut the yarn.

Finish both shoulders (Front Right and Back Left) with final rows. To do this, keep the work right
side facing you. Join the yarn into the starting dc2tog of Row 8 of the Front / Row 6 of the Back
and pull up a loop.

Final row: Ch3 (counts as dc), dc in next 16 sts/sps, continue crocheting along the shoulder till
the last sc of Row 20 of the Front/Back (marker #4/6): (dc around post of next dc, dc in next dc,
dc in next ch1-sp, dc in next hdc, dc around ch2-sp, dc in next dc, dc in next ch1-sp, dc in next
dc)x7 omitting last 2 dc, dc in next 6 sts/sps. (Total: 77 dc).

Simplified: Work along the shoulder from starting dc2tog of Row 8 of the Front / Row 6 of the Back till
last sc of Row 20 of the Front/Back (marker #4/6), 1 dc in each st/sp = 77 dc.

Continue to Back Right Shoulder.

BACK RIGHT SHOULDER 2XL

Keep the work wrong side facing you. Skip 37 dc from dc2tog of Row 1 of the Back Left Shoulder.
Join the yarn in next dc and pull up a loop.
Rows 1-6: Repeat Rows 3-8 of the Front LEFT shoulder. Cut the yarn.
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Finish both shoulders (Front Left and Back Right) with final rows. To do this, keep the work right
side facing you. Join the yarn into the 1* sc of Row 20 of the Front/Back (marker #3/5) and pull
up a loop.

Final row: Ch3 (counts as dc), dc in next 6 sts/sps, continue crocheting along the shoulder till
the last dc2tog of Row 8 of the Front / Row 6 of the Back: (dc around post of next dc, dc in next
hdc, dc in next ch1-sp, dc in next dc, dc around ch2-sp, dc in next hdc, dc in next ch1-sp, dcin
next dc)x7, dc in next 14 sts/sps. (Total: 77 dc).

Simplified: Work along the shoulder from the 1° sc of Row 20 of the Front/Back (marker #3/5) till last
dc2tog of Row 8 of the Front / Row 6 of the Back, 1 dc in each st/sp =77 dc.

Leave a long tail (approx. 2 length of the final row) and cut the yarn. Using mattress stitch, sew
both halves of the right and both halves of the left shoulders together.

Remove markers. Secure ends. Wash in cool water by hand. No spin. Dry flat.

Enjoy!
It was Yarn

ltWasYarn

Crochet & Knitting
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